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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement oM%ﬂination, you should check that
this Booklet does not have any unprinted or Wisstng pages or items, elc.
If any of the above defects is found, get it replaced by @ Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Vérsion CodeA, B, C, D orE, inthe appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet Version Code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part A contains 40 questions ofone
mark each and Part B contains 15 questions of 2 marks each. All questions must -
be attempted. Each question contains four answers, among them one correct answey
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is coliected. After handing over the OMR Answer Sheet to the Invigilator you
may leave the examination hall.
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PART-A
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Note: Aﬁ'swera!l questions. Each question carries one mark. (1x40=40)
208 oY TBNONR YU0R. 1,8 B Lot 0.
[az] =, ] El

1. Which one of the following is the growing social problem of modern india ?
a) Cybercrime
b) Cauvery river-water dispute
c) Communalism and Religious Fundamentalism
d) Climate change
FNRYRYE FGRE 103RE sSertam 1330803 MERE RSH SRR ?
a) J0° Erslepint
b) 2360 SO DWW 8

C) BRCTWITE TINP TIRFT MOM%SC W

d) @0E20E WBCRRNE

2. Who has suggested six dimensions of Communalism ?

a) M. N. Srinivas by T. K. Oommen
c) Auguste Comte d) Albert Einstein
BREE0RRE 0B 50 HOIRTINGY, RERERED 0IRTO ?
a) R’ % IR b) &. 3. v
c) A’ BRewd’ | d) S DAL
3. Communalism denotes between different communities and religious
groups. )
a) Antagonism a | b) Harmony
¢) Disharmony | d) Friendship
S EEonE DR AR0mRoRh e FARdFE ROORY 06 D
a) 3892, b) mRITR,
C) AORICATETE d) Res Rowot
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4, Regionalism is another form of

a) Universalism b) Globalization
¢) Socialism d) Parochialism
F3,08¢CDZ0I0 QWS BRBROED BREEONT _
a) AW TS b) onde3ses
C) ABRLTW d) @tﬁ@éeﬁdm
5. is a best example for inter-state Regionalism.
a) Narmada Bachao Andolan b) Save Ganga
c) Kargil War : d)} Belagavi Border Dispute
20 08000t T,08¢00087 YUBT) GUTIBORBOIRNGS,
8) VDT LIPTP 30TV 8 b) ror e -
c) BAFSS Od”% 2 NG Qe3ets

8. [.L.O. means

a) International Law Office b) International Labour Organisation

¢) International Legal Organisation d) Indian Labour Organisation

1.L.O. e20r5 -
a) BORO TYTRCT U0 IR b) oo IR Seroo” e g e’

C) QoLT TYIIO® Dener enreiens”  d) oBORT Sewt” unF ey L

7. Bonded Labour (Abolition) Act was passed in

a) 1826 b) 1947

c) 1976 | d) 1956 R
233 38 (DT) 5205 2OR L0 | .
a) 1826 | b) 1947 L
c) 1976 d) 1956 (
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8. After Legislature, Executive and Judiciary which one of the following is popularly

known as 4 important pillar of the Democracy ?

a) Education Sector b) Health Sector
c) Mass Media d) Tax Collection
ZoRTO0R, TIOITEON TN @gomoﬁdraoaﬁ @zsaa.jaﬁazéd SRIN eﬁqmd§oz;iaﬁocb
ﬁod:ém“egg@aa’g)da '
a) 38T, b) ednen, 3¢8
C) RRRT aSJad?Sa:b d) dorRon®
9. Mass Media moulds
a) Public Opinion : ' b) Court Judgements
¢} Climate Change d) Foreign Policy
RBIRT mqm@

e CtAl
a) RORF I LT t D& % IR0 SeRFied

C) TRBIWILD WTHTRH Qe

10. An example of electronic media is

a) Magazine b) Television
¢} Newspaper d) Journal |
QT agd WG 28 2,003 SUTIBOFBOIIAC,
a) RwRRYF b) @O’
c) ASBYT | d) mare’
11. Tourism department describes India as
a) Good India b) Famous India
c) Incredible india ; d) Indiscriminate India
mn\.@ezﬁ =0 Qeee3cdn ?pad:édda &ent dsémd
a) gelecy fao@odja b) Fessim® Qo3I
c) O E@EILT BOBOSR d) o BRI pelelzlenvp
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12. India has a population of

a) 1.5Bilion  b) 1.5 Million c) 1.24Billion  d) 1.24 Million
TR peTes B0,
a) 1.5 Jz8mces b) 1.5 da’@i c) 1.24 Iggnesd d) 1.24 deﬂ@é

13. As perthe 2011 census the percentage of Hindus in India is
a) 75.5% b} 90.5% c) 80.5% dy 70.5%
20118 x3neado TBT 408 az,moaj 00 0By vt T TR
a) 75.5% b) 90.5% c) 80.5 % d) 70.5%
14. The original name of Buddha
a) Mahaveera b) Siddhartha ¢) Shuddhodana d) Rahula
0T See BI
a) mmmd b} e ebdraedd d) ov@e
13. There are numberofTheertha%&
a) 24 b) 48 d) 34
T Al evoy 23), SeEF 0BT '
a) 24 b) 48 c) 44 d) 34
16. said ‘Human society has the cradle in the rural group’,
a) Socrates b) Bogardus
c) AW. Green d) Karl Marx
dadou% RPN Clclt v MORTHT * 0T 0IRT> BV 9
a) Regesee b) Kemedrae
c) & ciwa 25+ NLEQ® d) sore Snwes

17. Dominance of primary relations exists in
a) Social organisation

b} Association
¢) Urban community

d) Rural community
THNT BOWOTING RIARINEC oD, éoa’oaodagd
a) ROWRTIT RO

b) Rop
¢) SrdRB0mH

d) medoesy Fedomead
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18. Expanded form of MGNREGA

19.

20.

21.

a) Mahatma Gandhi National Rural Employment Guarantee Scheme

b) Mahatma Gandhi National Regional Enhancement Guarantee Scheme

c¢) Minority Group and Rural Employment Growth Scheme

d) Major Guaranteed New Rural Employment and Education Growth Scheme

MGNREGA 03 93,8 SR@H3, 0B,

a) BoTFMWoR TI’ BRTEF 0TI FO0W* 79,0083 320

b) =oaegeol 9IRS’ DRI I’ TR 0L 9,00t 3je0

C) TOOL NRF® WO SRV R0aR IR0 NRLET A0

d) s30T MCoLIET’ SR BRTEF 0503 s00E” 2078 QBB RLT AL0

Gender discrimination is made on the basis of

a) Religion b) Caste
c) Socio-cultural aspect 8 d) Race
Oonzate=yE SADSTAEN LS 3.

. a) QPRoF - b)
c) mﬁnaﬂ%—mo%@ﬁ d) emoon
According to 2011, India Gensus the sex ratio is
a) 914/1000 males b) 949/1000 males
c) 846/1000 males d) 915/1000 males
201181395 s T SomRTS
a) 914/1000 rowd ’ b) 949/1000 Red
c) 846/1000 ro>’ ~ 1 d) 915/1000 70w
Family is the basic of Indian society.
a) Organisation b) Institution
¢) Community d) Association
F763000EY) GOV BRART RRY
a) RoFHEI b) ReX,
¢) RROTOP d) Ro
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22. The English word ‘Family’ is derived from the Latin word

a) Famulus b) Famulie ¢) Famulae d) Famiii
Sl RARTHov pIAv @R’Dd wddda ST LRI B3 DI SobERe PPN
a) YO’ ) ‘amd C) FE0e d} & T%Q‘DJ@
23. The primary function of a family is
a) Socialization b) Customs

¢) Belief system d) Communalism

BOLDCLITT S0D,PVT FHCIOF
a) ROTIICTTED b) Romeon
C) Sowdned d) dncmvms
24. The Nair joint family is known as
a) Illom b) Tarwad Nambudari ) Gharo
ADIEVE o I iﬁbwouwab &oert éc?odaemm/élgs
a) ago b) @daacaf %/ d) mdm

25. Main feature of joint family is
a)- Two kitchens
¢) Separate houses
VAL BOR002E W) 2l e leiae
a) ebdfféb B8N 308
C) TFew Irieh

b) Divided property
d) Undivided property

b) etess &R
d) esedess R

26. Which of the following is an example for practicing of Regionalism ?

a) Shiva Sena

b) Congress Party
¢) Green Peace Organisation

d) Bharatiya Janata Party
%@ﬁﬁ@n’@ﬁ@ &0 o\%eo;i)é”odam TORE YURTOR ot 2.
a) &3 Res b) soor=e "é

c) NES” 2T Foghes d) t8secdy Z:sd@ o7
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27. Globalization means the economy of a country with the world
economy.
a) Integrating b Disintegrating
c) Destroying d) Limiting
RS eREIT0RT o) TeBT LHF T30 WNAN OFBZ03R00N
a) DOTRRWDT b) DOERRYRTRIS
C) 3 ORRRIRIFT d) RODRBREPAIITO
o8, Mono-culturalism is the practice of preserving
a) Single culture b) Multi-culture ) Contra-culture d) Tissue-culture
AR o,u 883 20033 NS odm@dﬁo Nod%m@mﬁd ?
a) LIA onu% b) @A on);% c) TotR 3y’ d) e33R, 5O0°

29. Who gave the concept of McDonaldiz énon ? |
a) Auguste Comte George Ritzer

¢) Emile Durkheim %flmvas
B3 BRI (R TOFOFCIRY, aefaddda 033030

a) @mw ifaeab:, ) w0 E O8T°

c) 0O BDeFo | ) DR, AT ée@mﬁ
30. The Child Labour (Prohibition and Regulahon) Actwas passed in

a) 1986 b) 2001 c) 1976 d) 2015

SUAeVES (E’Ow@d TR DODCZ 3£9) 5203, 25071 20T,

a) 1986 b) 2001 c) 1976 d) 2015
31. Oldest holy scripture of India is

a) Manu Smruthi b) Bhagavad Geetha

c) Upanishath ‘ d) RigVeda

POITI W02 T3 T, nog

a) @oRg, 3 b) In=QE

C) HUBIRBY | d) adori ec3
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32. Jainism started in

a) 6" Century BCE b) 5™ Century BCE

c) 6" Century BC . d} 4'" Century BC

WDy odes BBRRVDE) T9,00%3m90038) 9

a) 63¢3ZZRaBCE b) 58¢ 58233 BCE

C) B3¢ T3TNIBC d) 43¢ 333 BC
33. Sacred holy place of Christian is

a) Constantinopel b) Paris

¢) Vatican city d) Venice

Eamviaal w808 BRZr fn;%f |

a) R, otdSpeTer IS /Wb) %R, 08°

C) [edva® 2kl

34. Kaleema indicates

a) Monotheism b) Polytheism

c) Five time prayer - d) Fasting

5O B3 Bs wz;ﬁrddg{ RIS

a) DFBCRTOES b) waEhdemzotors

C) 0T 190 TR BRI d) VTR IR
35. The place of worship in Sikh is known as

a) Basadi b) Vihara

¢) Gurudwara d) Mandira

A83* BRFTIFT GYeten Y

a) WAL | b) S

c) rbdoca:gsd d) &ochs

N

TR

L

}

(o
i
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36. The arrangement of people in various positions is called

a) Division of people b) Social status
c¢) Social position d) Social stratification
ATA m@ﬁﬁ#@m aﬁda’pﬁl a?eﬁﬁm@ab&fydﬁg{ &oert BBODTNIZT
a) WV VP b) ARRINT 903X
C) AR T d) 28 FONTYI
37. The English word ‘caste’ is derived from “word ‘casta’.
a) Spanish b) Latin ¢) Indian d) German
SONLITOD TOA ""’tﬁdaﬂa LT TR, BEOT B3 SRBERNG.
a) A b) 5" c) md@eoda d) assfws—a@
38. The caste group who were deprived of all societal nghts are known as
a) Downtrodden b) Untouchab d) Deprived
AOBIVIT BB NPos S30e3ERRoRTS ?,uOdD 230
a) 39R0T b) @&, ; ?563 C) wcéﬁ d) [0
39. called the tribes of India as ‘Girijans’.
a) Jawaharlal Nehru b) Mahatma Gandhi
¢) Raja Rammohan Roy d) Ishwarchandra Vidyasagar
OR300 8e03) LOTHI WSTS, RORITY 0w BT
a) WEBITHT® JBR b) &o%eE Mook
C) TOLRTIRT BREDNT THOI® d) 83,0700, QTRHAINTT
40. The First Backward Class Commision of India was
a) Nagangowda Commission b) Havanur Commission
c) Kalelkar Commission d) B.P.Mandal Commission
POTBES TR0 &0TIVE @BRFa Bodeen
a) DANSTRW esodeen b) mewaRD® wadRen
C) TSR0 escdoen d) 2. & sore® esodeen
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Note: Answerali quest:ons Each question carries two marks. (2x15=30,

TS PO, w@ﬁr{@r\’,@ eméﬁm wawaﬁﬁada’b 0B,

41. In 1993, women’s representation in local bodies was fixed by Constitution at

a) 50% b) 25% c) 35% d) 33%
19930¢), 13ge0d BoDToRa 3 APECD & or-g)h’edq @&J% Bé&D xa@ﬁn’@dg NV =lowetarantal
o‘mm@wcﬁ ? ‘ ‘ :

a) 50% b} 25 % c) 35% d) 33%

42. Main occupation in rural sector, is centered around _

a) Fertilizers b) Agro-products ¢) Water d) Tractor
HRTBE rReders wd(’%ﬁh’@ﬁ@ 0083, FRoe fadé ROWORT
a) d:drirazod 5@&%@’5@ ) Qe d) &, ol

43. Which of these, is a prominent rural spor’fSC

a) Cricket b) Hockey Ka[& di d) Football
LTSS 160080 BEeBNHE) ) B39B08%3 %ed

a) 33 b) &'a% c) swE d) Do

44. Match the following :
A. Brahma Samaja |, Mahayana
B. Digambaras ii. Shaivism
C. Hinayana iii. Arya Samaja
D. Vaishnavism iv. Swethambaras
a) A—iii, B~i, C~iv, D —ii b) A—iii, B~iv,C—ii,D—j-
c) A—iii, B—iv,C—i, D ~ii d) A—iil, B—ii, C—i, D —iv
TRODZ B0
A. T RBRR i ®B0IRT
B. Qnowo : ii. 3
C. otDoodns iii. es0dF Fdn
D. %@d v. 3 e@p00dod :
a) A—iii, B—i,C—iv, D —ii b) A—iii, B—iv,C—ii, D — |
c) A—iii, B—iv,C—i, D —ji d) A—ii, B-ii,C—i, D—

{ i

(

i

[
i
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' '45. Buddhismis divided into and
a) Strong and Faithful b) Vaishnavism and Shaivism
¢) Boudhiand Bodhi d) Hinayana and Mahayana

SBY__ afoiatetatant zﬁbcé NS PATAIS AT

a) ﬁ%iﬁ)éﬁ erNi b} féa;ad w02) 3:)5

L c) WP w8 el d) Zoe0dTRR #08) WITIOINE

{46, Christianity is divided into and

1. a) Upperand Lower b) Catholic and Protestants

' ¢) Realand Anti d) Allthe above
_ LS Bon@nwan g3 ey LRI oRd.
a) W RO W@y VPO b) w,BredE w08 FREROW
C) TRNE B LHTIT d) Quzp

47. The 2001 National Census of India estimafed the total number of Child Labourto be at

a) 2.6 Million b) 5.6 Million MSO.G Million  d) 12.6 Million

20013 ooy 0 rieadodd 7500 yRssrd, oo @@QWD% LOOIPNTIT 243, T
Rosd, e0TTd |

a) 2.6 cﬁeﬁeﬁ% b) 5.6 cﬂeﬂeﬁw‘ ¢) 10.6 d@ﬁ@i d) 12.6 303
48. Act prohibits the employment of children below the age of 14 years.

a) The Mines Act 1952 . b) Child Labour Act 1986

c¢) The Plantation Labour Act 1951 d) The Indian Factories Act 1948

20005 14 BODHRF 89N BT NBRENGY, Ebdécmﬁ;\—b@daig{‘c’oﬁc’@#ogd

a) 19520 ned s - ~ b) g woRed F2020cs 1986

c) 19513 80ets TF 80 52000% d) LR0EE Tesor SNd 5005 1948
49. Reason for the Bonded Labour is :

a) Poverty and llliteracy . b) Globalization

- ¢) Urbanization d) Privatization

22638 HSr Boog), 5aTER[oTT

a) RIS W8 GTITZ b) cReEcEs

¢) INDeITED d) a0omNeEseD
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50. Match the following : ]

A. Anand Keraj i. Muslims

B. Panigrahana it. Buddhism

C. Nikah iii. Sikhs

D. Dalai Lama iv. Hindus

a) A—iv, B—i, C—iii, D —ii b) A—iv, B~ii, C—i, D —iii
c) A—iv,B—iii, C—i, D ~ii d) A—iii, B—iv,C—i, D —ii
THODR LSOO ;

A, 30 oot . @00

B. @oednmes i g

C. Qazo iii. R3D%,

D. wew, oo iv. &oTR

a) A—iv,B—i, C—iii, D—ii b) A—iv,B—ii, C—i, D—ii
c) A—iv,B~iii,C—i D—i 8 d)A—iiiB iv, C—i, D~

51. Consider the following statements :

. Tigers are found in Karnataka, West Bengal M{arakand
ii. Sheeps are reared for bone.

iii. Our national animal is tiger.

iv. India is largest producer of milk.

Choose the correct statement

a) i, ii and iii only b} i, iii and iv only
c) iandiv only d) ii only
B3 IFN ée@%d@ﬁ?\b Ne@RW0 :

I B33, wéaio 2omY 3333 Cphclenkilee ooL NY) @I ForowBIB s,
i, S0RYMN ﬁ)ﬁ)ﬁ'@ﬁd} —oﬁmr{)éd

ifi, @O0 éﬁgldeéﬁd IOy, 0% 0,53,

iv. $002) 38 éa&gj TV YVBICIF SINTII T3,

A evgs 508, RRRO -
a) i, ii d)@ i b) i, iii ab@_g iv
c) i &3y iv d) ii =%3

e,
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52. As per the Indian Constitution, the total reservation quota should be within the

53.

54.

55.

percentage limit of

a) 30% b) 40 %

c) 60 % d) 50 %

2008 RODGINE FTIT, LRTBHE WRCRE T TRooes 88 NS 1333 2BLTTRO
a) 30% b) 40 %

c) 60 % d) 50 %

In Karnataka, Marathi speaking people are refer to as Linguistic

a) Majority , b) Minority

c) Equality d) Intellectuals

B 1B, WY a@aﬂ%dﬁg{ LIOT® PO TOO0BYT.

a) wWBIR0TYIBD eﬁemosm 33

c) Rednad dﬁ@wmb

is one of the important factors for the globalisation.
a) Green Revolution b} 1l World War

c¢) Spread of Information Technology d) Rise of Terrorism
23NSeBTERE B30T FOTEIOWT

a) ®ATOT08 b) &, DWEEDleev Y
c) B3 ZoeRFE AT d) wqﬁfae@décxb emﬁa:b

McDonaldization is affected negatively on Indian system.
a) Press and Media b} Dress style

c) Food system d) Marriage system

RRF BROLTTED 9306593 8e30N GITBL B3 f%dﬁ@qjo w0663 FeTes Wedd
a) BB B DR b) d:o; ébzsaagﬁ

C) TBVTES d) QewE BT

NS -629
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